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Semester 2, 2006 - 2007 |

Grade 12 Geometry and Discrete Mathematics

Mnjor Test - Unit 1
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2. State whether each of the followmg is true or false To receive full credit, you must prove the statements that are true

and provide a counterexample for the statements that are false. (6 TIPS, 3 COM)

Srarement

In quadrilaterals ABCD and
EFGH, AB=EF, BC=FG,
CD=GH and DA=HE.
Therefore,

ABCD = EFGH .
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3. Complete the following table. In each column with the “T/F?” heading, indicate whether the corresponding statement
is true or false. (8 KU)
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4. Inright triangle ABC, AB=8 cm and AC=6 cm. By folding the triangle along line
segment XY, vertex B coincides with vertex C. What is the length of X1? (4 APP)
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5. Determine the unknown values. (KU marks are given for stating the theorems used.)

(a) x=£ APD, y=£20DC, u=£QCD, v=£4BCD, w=£CBP
(5KU,5 APP)
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(b) Given that the radius of each circle is 5 units,
determine the length of r=BD. (3 KU, 3 APP)
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Let AF=a and FD=b. Determine the length of BD in terms of a and 5. (4 APP, S COM)
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7. In this question, you will use proof by contradiction (reductio ad absurdum) to prove one part of the “PLT Z”
theorem. If alternate angles are equal when a transversal intersects a pair of lines, prove that the lines must be
parallel. (4 TIPS, 4 COM) P
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8. In a certain machine, an electric motor is used to spin a metal wheel of radius 6 cm, which is tangent to a larger metal
wheel of radius 18 cm. A rubber belt is wrapped tightly around the two wheels in such a way thatThe smaller
spinning wheel causes the larger wheel to spin. What is the length of the rubber belt? N -

Exiend DBand EC o A. Then, (5 TIPS, 4 1)~ ALl
AB=ACX(TPP) and WA
AD=AE (TPP) %

S AD-AB=AE-AC D

B L=y

mise,

PDLAD, PELAE, QBLAD,GCLAE (TRP) Ao -
PD:PE: PT: 1‘2 L-Vu\tlfi U'I: 1wj€r’ (’nﬂ[@) Ie) r .A:‘-_'ii = E_’\J_ = J—T

Q)= GCB=QC=RH = G (,rwlil o smaller €rre FH)I DP\
_ . 24k = L
AABG ~ AADP (AA) Cziw T3
’ X = -é— == —L ‘, ' e 5 (5’
G 7 lﬁ? = Ii’\ é\ ABQ C F‘lr.)}\" ‘i'V'lu""l»J{(" )

AR = A Bt (PT)
."1 "'l‘ =ni ! :l.ﬁ i ( _'7‘.-\ .
z( A :_ iojj @ C{/whnw?ﬁ{

l. x =403 = é'b@_



7t V= Ax =ApV3) =W

AD _ GEFINB 85
Lan(L APD)7 ?[)Q ST J3
:ac AF‘Q(PD :(‘OCJO |
S LDPE =fe0" = l.;k‘-’f
L BRC =1Q0° (similar As)

¥

Cﬂl’lll'i.l['\‘\

("’ |Ql:13‘{'[f]':fl‘? q%ﬁi‘gﬁ‘;ﬁ?fwi{e halr.
5

= o l/tm.|+3 (cm )
and (et"?u’)‘]‘/’\ o7r: are BHC/

= B
) 3@@&53@/
o Lf’ﬁ“ units (em)
#, I&lcj'H\ mC Vuf.ﬂjﬁt’i’ bt’H—
RD+ ( E +arc BHC tarc DKE
= Ry +arc BHC + ave DAE
= 0Q3) + 4+ 4T
42 + BT cm

L RL5 em [

) ,c:'rMﬂh@ c‘l: Smuller C[‘rc,lé

\l



